
1. Saurabh 

advertisement Document. He is facing difficulty in positioning the images within the text. Suggest him how he can adjust the image. 
(a) Wrap text 

(b) Word Art 

(c) Alignment 

(d) Layout 

has 

(a) Report 

(b) Query 

2.. Which of the following enables users to view, enter and change data directly in database objects? 

(c) Form 

(d) Database 

made an 

Digital in 

3. Rahul and his partners have 
created a list of their company 
employees in One of the 
spreadsheets in the office. Now 
the rest of the task they want to 
complete from home. Which 
option should they use to access 
the same spreadsheet from 

(a) Consolidate Worksheet 

(b) Link Worksheet 
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(c) Merge Worksheet 

(d) Lock Worksheet 
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4. At the bottom of each worksheet, 
left tab indicates the 
worksheet in a workbook. 

(a) size 

(b) type 

(c) name 

(d) color 

5. A refers to a cell or a range 
of cells on a worksheet and can 
be used to find the values or data 
that you want formnula to 
calculate. 

(a) cell reference 

(b) block 

(c) sheet reference 

(d) autofill 

6. Rajiv was asked to highlight the 
cells with green colour where the 
value entered is either greater 

than or equal to 120 in the 
worksheet containing thousands 
of data entries. Which feature of 

Calc' should he use to get this 
work done within seconds? 

(a) Conditional formatting 

(b) Filtering 

(c) Sorting 

of the 

(d) Simple formatting 
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7. Networks in which certain computers dedicated have 
tasks, 

la hierarchical 

services to other computers (in the network), are called networks. 

(b) dedicated server 

(c) peer to peer 
(d) client-server 

(al dollar ($) 

(b) dot () 

8. The filename and filename 
extension are separated by a 

(c) underscore ) 

(d) hash (#) 

laf View changes 

special 

9. Amit and his friends are working 
on a spreadsheet for entering 
data and updating records. They 
wish to keep a track of changes. 
Which of the following options 
will help in knowing who made 
the changes and what changes 
were done in the spreadsheet? 

(b) Record changes 

providing 

(c) Store changes 

(d) Track changes 
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10. is a device that connects an 
organisation's network with the 
outside world of the Internet. 

(a) Hub 

(b) Modem 

(c) Gateway 

(d) Repeater 

11. By restricting the server and 
encrypting the data, a software 
company's server is unethically 
accessed in order to obtain 
sensitive information. The 

attacker blackmails the company 
to pay money for getting access 
to the data and threatens to 
publish sensitive information 
unless price is paid. This kind of 
attack is known as 

(a) phishing 

(b) identity theft 

(c) plagiarism 

(d) ransomware 

12. Collection of hyperlinked 
documnents available on the 

internet is known as 

(a) website 

(b) webpage 

(c) web server 

(d) web hosting 
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13. According to National Education Policy, 2020 (NEP-2020), the previous 10 + 2 education system or pattern was replaced by 
(a) 5+3 +3 + 4 

(b) 5 + 4 + 4 +3 
(c) 5 + 5+3+4 
(d) None of the above 

14. Students' Examinations should be held to 

(a) assess students' skills 

(b) identify learning problems 
e identify the level of learning 
(d) rank students for selection 

or upgradation 

15. The main objective 
Foundational Literacy and 
Numeracy (FLN) is 

(a to ensure that every student 
achieves foundational 

literacy numeracy by the 

(b) to focus on digital skills of 
students 

of 

(c) to ensure that every student 
achieves minimum 
mathematics achievement 

by the end of grade 5 

(d) None of the above 
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16. 
Which one of thhe following, is not 

a pillar of Foundational Literacy 
and Numeracy (FLN)? 

lal Educational infrastructure 

(b) Teacher recruitment 

(c) Basic health 

(d) Learning outcomes 

17. The use of teaching aids during 
teaching focuses on 

(a) attracting 
attention in the classroom 

(b) to control indisciplined 
nature of students 

(c) enhancing learning outcome 
of students 

student's 

(d) effective engagement of 
students in learning tasks or 
activities 

18. A smart classroom is a classroom 

having 
(i) smart portion with a touch 

panel control system 

(i) PC/Laptop connection 

(ii) educational softwares 

(iv) projector and screen 

Select the correct option from 
the code given below 

(a) ) and (ti) only 

(b) (i) and (iv) only 

(c) ), (i) and (ii) only 

td) AIl of the above 
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19. A student writes 13 as 31 and is confused between b and d. This type of case of difficulty is named as 

(a) visual impairment 
(b) mental retardation 

(c) learning disability 
(d) None of the above 

20. Which of the following steps should a program evaluation team take first as it begins the process of conducting 
comprehensive evaluation of an early childhood program? 
(a) Reviewing the program's current philosophy, goals 

and objectives 
(b) Comparing the Current 

year's level of success to that 
of the previous few years 

(c) Creating a list of current 
teaching staff sorted by 
years of classroom 

a 

(d) Assessing the performance 
of teachers, administrators 
and staff for the current year 

21. Which channel of SWAYAM 

PRABHA is associated with 
language and literature? 

(a) VAGEESH 

(b) SANSKRITI 

(c) PRABODH 

(d) KAUTILYA 
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22. DIKSHA 
associated with 

(a) higher education 

(b) school education 

programme 

(c) medical education 

(d) technical education 

by 
23. SWAYAM PRABHA was initiated 

(a) University 
Commission 

(b) All India Council 

(d) National 

is 

Grants 

(c) Ministry of Human Resource 
Development (Ministry of 
Education) 

Institute of 
Electronics and Information 
Technology (NIELIT) 

for 

24. How should a visually impaired 
student of class V be 
accommodated in an inclusive 

(a) Should be encouraged for 
home tuition 

(c) Orientation and mobility 

(d) Providing 

(b) Parents should teach them 
at home 

GENO1/15-C 

necessary 
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the context of mineral 
of resources the world, 

Muruntau, Grasberg, Olimpiada 
are the mines of 

28. In 

(a) coal 

(b) iron 

(c) gold 

(d) diamond 

29. The term Zosurabalpin', recently 
seen in the news, is 

(a) a new class of antibiotics 
that can tackle drug 
resistant bacterial strains 

(b) a Fixed-Dose Combination 
(FDC) drug that aims to treat 
rabies in dogs 

(c) a new treatment developed 
for last stage cancer 

(d) a herbicide banned due to 
its hazardous impacts on 
human brain 

30. In a group, 20 people like cricket, 
15 like hockey and 12 like horse 
riding. One person likes all the 
three games. 5 people like both 
cricket and hockey, 3 like both 
hockey and horse riding and 2 
like cricket and horse riding. 
What is the total number of 

people in the group? 

(a) 40 

(b) 38 

(c) 48 

(d) 45 
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34. A tailor has to cut multiple rolls 
of fabric with a pair of scissors. 
Each roll of fabric has to be cut 
into 10 equal pieces. If he makes 
45 cuts with his scissors per 
minute, how many rolls would be 
cut in 24 minutes? 

(a) 30 rolls 

(b) 58 rolls 

(c) 

(d) 

108 rolls 

120 rolls 

35. A bus starts from city X. The 
number of women in the bus is 
half of the number of men. In city 
Y, 10 men leave the bus and five 

wOmen enter. Now the numbers 
of men and WOmen become 

equal. In the beginning, how 
many passengers entered the 
bus in city X? 

a) 25 

(b) 35 

(c) 45 

(d) 55 

36. Which of the following is the least 
possible fraction that wil1 get 
divided by each one of 5/18, 8/9 
and 10/27? 

(a) 25/9 

(b) 40/9 

(c) 25/3 

(d) 81/4 
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ldentify the meaning of the underlined idiom : Additional initiatives aimed at the welfare of the elderly population in thel 
nation are in the offing. 
la) Being Contemplated 
(b) Under scrutiny 
(c) With the officials 
(d) Likely to happen soon 

38. Rewrite the sentence in indirect speech: "I will win the competition," she 

confidently exclaimed, "and prove my capabilities". 
la) She confidently stated that she will win the competition and prove her 

capabilities. 
She confidently exclaimed that she would win the competition and prov 
her capabilities. 

(c) She confidently exclaimed that she would win the competition and prove 
her capability. 

(d) She confidently expressed that she would win the competition and be 

able to prove her capabilities. 

39. Choose the correct spelling. 
(a) Sacrilegious 

Ab) Sacreligeous 
(c) Sacriligeous 
(d) Sacreligous 

40. Ch0ose the correct synonym for the underlined word in the given sentence: 

The professor was incredibly loquacious during the lecture, elaborating on 

every intricate detail of the subject matter. 

(a) Taciturn 
tb) Garrulous 
(c) Reticent 
(d) Laconic 

41, Choose the correct antonym for the underlined word in the given sentence 
His indefatigable pursuit of esoteric knowledge often left others bemused. 
yet he remained resolute in his intellectual endeavours. 

(a) Stability 
(b) Inscrutable 

Lle) Lethargic 
(d) Enervated 
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(a) 
(b) T�G 

(a) sfrg1frs 
(b) $frEferes 
(c) yagifercE 
(Y rarfeE 

(b) 

(d) a ta 

(a) 
(b) qGft 3 4GI 

(a) 
(b) Tì 3HT¤ a, 
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47. 

48. 

(a) 

(b) f3 

(c) 8 

(a) 6 () 3 (iü) Ht J 

(b) E5 () 3 (iüi) Hst J 

(c) HS (i) 3 (i) Hft JS 
(d) aHS (), (ü) 3 (üi) f3o Hft Jo 

(a) 3 
(b) 3J 

(c) st Hot Hg JHH aT HT 
(d) }g ar 

(a) se gaiH 

(b) fafT aIH 

(c) feAH vaIH 

(d) faf feAHa qa'H 
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